Quiz Review — Section 3.6 & 3.7
O Name:

Hour:
Page 171: #64, 66-69
Page 178: #14, 18, 20, 22
Page 180: #49-55, 4-10

64. Which equation is equivalent to 15x + 3y = 10?
A.y:5x+%’ B.y=*5x—%’ C.y=5x—1§° @yﬂ—5x+1§°

D

66. What is the y-intercept of the line whose equationisy + 9 = 2(x — 3)?
A.15 B.9 @——15 D. -9 C

Use the graph at the right for Exercises 67-68.

67. What is the slope of the line? (0, 5); 6
F —5 G.—1 3‘ |4
H. 5 ;
O Which equation is the equation for the line? (LD |
A5y =x — 6 —4 -zj O 2 4x
-4

B.y=5x-6 C
@Sx +y=6 i
X+ 5y =6
69. The slope of line a is g and its y-intercept is 12. Line b passes through
(4, 1) and (7, —3).

a. Write an equation for each line.
b. Graph both lines on the same coordinate plane. From the graph, what is

their point of intersection? : .—3—\ - i_
3
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Write an equation for the line parallel to AR that contains point C




Are lines € and ¢, perpendicular? Explain using slope.

L. slope = -
o sloge = %
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Write an equation for the line through P and perpendicular to the given line.
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20. P(6,6); y = %« -—}2_ 22. P(4,4); y + 2x = -8
—p = -2 ‘
N7 200 V-4 =5 (¢ +)
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49, What is the slope of g line parallel to the line 6x — 4y = 12?
3 4 _4

A -3 & c. 4 D.

50. The slope of a line i |s 6. What is the slope of a line perpendicular to it?
I re e .| o}
51, Line f contains the points (5, —4) and (4, —6). What is the slope of a line

perpendicular to it?

1 ] .
A.2 B. } (O-1 D. -2

52. Line ¢ contains the points (2, —2) and (—4, 1).

O
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a. What is the slope of a line perpendicular to line ¢? Y s - __2_‘_ :—'-
b. What is the y-intercept of the line perpendicular to line cthat _ ¢4 -2 T - 2
contains (1, 2)? @
@ kb slege =2 e 201
Algebra Write an'equation for the line containing the given points. b) —2Lx+0
53. A(0, 3). B(6.0) 54. C(—4,2),D(—1,7) 585. E(3,-2), F(—5.-8)

§r3=-3lom 4e2s Flke)
as Y42 = 2 (x-3)
31 ’J:ZX +5
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| Algebra Graph each line using intercepts. (&é ﬂ ' q

4.4y +y= -8 5. —2¢+ 3y =12 6. 3x + S5y = 30
Orine (28 xatwd w02
gonk (08 ok e (0,3

Find the slopes of ES"_ and ?j Then determine whether RS and TV are parallel,
perpendicular, or neither. Explain.

7. R(~2,6), S(3,4), T(3,5), V(0,0) 8. R(6, ~1),5(7.0), T(3, —4), V(0. — 1)
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9. R(9,1),5(5,6), T(3,8). V(~2,4) 10. R(5,~7),5(—4,~9), T(6,2), V(-3,0)
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